8-1 Multiplying Monomials - ANSWERS

Front: Simplify.

1. y(y®)

yG

4. x(x2)(x*)
x7

7. (2a?)(8a)
16a°

10. %(2a3b)(6b3)
4a3pt

13. (5a2b03)(%abc4)
a*b%c’

Back: sSimplify.

1. (y5)2
y10

4. —3(ab*)3
-3 a3b1 2

7. (4a2)%(b3)
16a*b3

10. (2a3b2)(b3)2
2a°p®

13. (25a2b)3(%abc)2
625a8b°c?

16. (—2n8y%)(—6n3y2)(ny)3
12 n1 2 y1 0

8. (rs)(rs3)(s?)
r2s®

11. (—4x3)(—5x7)

20x10

14. (—5xy)(4x2)(y*)

—20x3y5

2. (n7)*

n28

5. (—3ab*)?

—2783b12

8. (4x)%(b3)

16x2b3

11. (—4xy)3(—242)3

512x%3

14. (2xy)%(—3x2)(4y%)

—48x4y5

17. (—3a3n*)(—3an)*

—243a'5n8

3. (—7x2)(x*)

6. (—x3)(—a%)
x7

9. (x2y)(4xy?)
4x3ys

12. (—3;2k4)(2jk6)
—6j3K10

15. (10x3yz2)(—2xy5z)
—20x%y52%

3. (x2)5(x3)
x13

6. (4x2b)?
64x%b3

9. (xZy4)5
x1020

12. (—3j2k3)2(2j2%k)3
72198

15. (23y%22)3(x%)*

17,610
8x''y°z

18. —3(2x)4(4x%y)?
_768x14y2



